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The following graph of f(x) is used for problem 1 and 2
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1. The notation f'(—1) means the instantaneous rate of change of the function f at the point
z = —1. Consider the instantaneous rate of change of f(z) at the points z = -2,z = -1,z =
—.05 and z = 0. Order the instantaneous rates of change of f(x) at the given points from
smallest to largest.

AF(-08) < F1(0) < £1(-1) < £1(-2) fa)y = -%
@2) < £10) < F/(~0.5) <@ £ I(—’ i) =~ 2

C) £1(~5) < F1(~1) < (-2 < £(0) f-08) ~ |

D)f/(~2) < f/(~1) < f(~0.8) < F(0) £'(0) = -

2. Let 29 = —2 and Az = 1. The function f(z) is shown on graph above. Which is the best
estimate of the slope of the secant line using;:

f(zo + Az) — f(z0)
Az
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3. On an alien planet they use gibs and bits to measure volume. A gib is 5 times as large as a
blt Peanut the cat has a volume of 32 gibs. What is his volume in bits?

e bits | [ qo= & bt
B) G2 bits = | = %b:\— = | = :é_,k_,_g
C) CAU) pigs L [4ib
D) (26 i gz % ”( b = 32 -7 wite

Bl S

E) Not possible to determine with information given,

4. 45 L of water with a salt concentration of 3 moles/L is mixed with 31 L of water with a salt
concentration of 10 moles/L .

Find the salt concentration of the resulting mixture.

Uus L +3\L =76 L
A. 137 moles per liter
B. 9 88 moles per liters

C. %2 moles per liter L{S % Mol& 4 :_é__\_ . \O Male tﬁlg, %35 “pole
@ 5 86 moles per 1.1ter 7 B 7(0 - -

. 2.93 moles per liter

5. Consider the updating function (DTDS):

pt+1 = 1.72p;.

pt is the population of insects at time ¢. The population is measured in thousands of insects.
Find the solution function to the discrete-time dynamical system, given the initial condition
po = 4 thousand. The solution function should give the number of insects measured in
thousands as a function of time. P _ Lf

[~

A) P(t) =172+ 4t
P = -T2 (H)

B) P(t) = 4+ 1.7t 27—

b= \.TZ(\.'(?_(L()) =17 4
Py = 172 (1L72(1T2 E L1 -

C) P(t) = 1.72(4%)

@D(t) = 4(1.72Y)

.\-—
E) None of the above. ‘ '?G’):-?_‘_ = \ '72 ¢ q



[Context for Problems 5 and 6 ]

The diameter of a tree increases by roughly the same amount each year. This growth is
visible in tree rings. Create a model of tree growth with the assumption the tree’s diameter
increases exactly the same amount each year.

In 1979 a tree’s diameter was 11 inches. In 1988 the tree’s diameter was 12.35 inches. Assume
t =0 in 1979 and that ¢ gives the number of years passed since 1979.

6. Write an equation that models the tree’s diameter as a function of the number of years past
1979. Note that Dr. Byerley looked up actual information about tree growth rates so your
a hould be logical. - -1
nswer should be logica e \MDPC’ - L2339 | - 05
A) d(t) = 1.35¢ + 11

B% d(t) = 1.35t + 12.35 49-D P"”‘J L
O Jlope MfW»tt.Y*"" smam.-. : &QL{:);_ on) -L + C Lo,\\)

: D) d(t) = .15¢ + 12.35 v
E)) d((t)):.15:+ R e L L A‘;"i
Alt) = 619 1) W= el e 3

7. Write an updating function (DTDS) that shows the relationship between the diameter in
inches of a tree at time t d; and 1 year later, dyt;.

.,,H_1=dt+o.15 dlopt b oA apes AL T"

B) di41 = dy + 11
Q) digr = (0.15)ds + 11

L dene
D) dyyq = (1.35)d; A p o

E} C) deyq = (1.35)d !
) C) dgya = (1.35)d; + 11 WT (,l,-o«v\?(u B&L,,.
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9. (8 points) The length L(T") of an insect is a function of the outside temperature, T', during
development according to L(T) = 11 + %.

The volume of an insect is a function of the length according to V(L) = 0.4L3.
Length is measured in millimeters(mm), volume is measured in cubic mm, and temperature
is measured in °C. You do not have to simplify to answer this problem.

a) Write a function expressing the volume of an insect in cubic mm as a function of the
outside temperature in °C.

Want : \/(L,(T)) Vi =84 L g LCT):ll+qI

3
V(T) = VL= .U (1)

b) The average density of an insect is 0.26 milligrams per cubic millimeter. Write a function
that gives the mass of an insect in mg as a function of the outside temperature in °C.

Gl—eﬂf;+‘j OVle\w\¢ = MC\SS
| BN

O.é’ ¢ V CT) MCT)

M(T)= ©.26V(T)
>
- 034 0.4 (W) ]



10. (10 points) The population P of birds at time ¢ is modeled by the equation
P(t) = Py,
Py is the initial population size and t is measured in years.

| (a) Find the time that it takes for the population to double in size.

wWe want + P = 2%
Pbe’ﬁ.?)’c - 2_?0

SEaEy)
lale®*) = Inl2)
0.t = WnAz)

(b) At time ¢ = 7 the population of birds is 4, 000. What is the initial population Py? Round
to the nearest whole bird.
0.3(%)

P =L 4,000 .

et =400

o= SO | 40 bivdv
e A



11. (9 points) A person breaths in and out .55L of air in each breath. Together their lungs have 3
L of air when full. Let s; denote the concentration of chemical in the lungs at the beginning
of each breath(when the lungs are full). On each breath in they inhale .55 L of air with
concentration of chemical of 2 mol/L.

a) Fill in the blank boxes below to model the situation above.

| Step [ Volume (L) | Total Chemical (mol) [ Chemical Conc. (mol/L) |
Air in lung when full. 3 g)( - S Mol St
®
Air lost from breath out .55 0.5+ St St
Air remaining in lung P 058 45t St
= .45 J
Air replaced by inhale .55 o) ( 5.4 6)_—; ,‘\0 2 — I_/ .
Air in lung after inhale
2 2455, +2(65 2.ugs5L +1)

3

b) Write an updating function(DTDS) that relates s; and s¢41.

Shs 3 AHS 8, £ 1)
=

c¢) What is the equilibrium concentration of chemical in the lung? Find the equilibrium
algebraically. (If you find it with a graph you can still get partial credit.)

¥ = 245 s¥ 1\

2s% = 2.Uuss* 4.\



12. (6 points) (a) Find all equilibria of the discrete-time dynamical system

N Ko+ 7
t+1 = 3v;
where K is a parameter.
— "——‘\.‘
3 i

3(1/")& =Kve v/
39 Kk -7 = O

yx - K £ /EEFOOT
2.(3)

Elrthr i3 A ¢c {%b"\;(-e .

~ ~

.kt /K g Y (L
13. (8 points) On an alien planet they use doffs and mercks to measure length The size of a

merck is 2 times as large as the size of a doff. I m erch = / clode‘rg )_l,/‘ Merch > I/;M

a) Draw a ruler that has both doffs and mercks and is at least 6 doffs long Use the line

provided to make the ruler as accurate as possible. g pmece i = S AO'(:F'

A [ A N N S U O A A I O A

N L I I A O O (R

0 : A 3 ¥
Me re é)

b) The length of a stick is & 3 doffs What is the length of the stick measured in merks?

err:‘( . g :i _ _8:
5/‘4“/% 5/5 o dhg T 5 5 ek T g Merch



14. (12 points) Consider the function, g(t) = 3¢2 + 1.

(a) Find the average rate of change in g(¢) between time ¢ = 1 and time ¢ = 1.5. In other
words, find the slope of the secant line that approximates g(t) on the given interval.

Avam%g_ Rede of Change 3({‘+A{> *3(*&) LS~1= S=AT
. At
3('*53 - 9(0) _ g0s)-gth @(I.Sﬁ\)-(3(i\1+1)
. 5 - S <

3(18Y-3 _ 2.9
.5 |

(b) Find the average rate of change in g(t) between time ¢ = 1 and time ¢ = 1+ At. In other
words, find the slope of the secant line that approximates g(t) on the given interval

.Ci< +At) - 3(‘\ - 3+bAt +%(A~t)°f+\-tl

At At
= (3< I+AJc\2—H>~ [gmm\ = (AL FRALYT
At — AT

~ 3(I+ 28t +a0)H - 1 Y: 6+ 3AT J
A -

{(c) Find the instantaneous rate of change of g(t) at ¢ = 1 by representing the average rate
of change and then letting the change in time approach zero. In other words, use the
following formula:

. gt + At — g(t)
Aliglo At ‘

—a~ ,
(e Q\(‘QOA% S\m&)\i‘ﬁ&?(\‘ 3(+i\Ai\Jt ( ) 1A Par’{? })

= b L33AES (v3(0)= b
A0
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15. (10 points) Pebbles the cat is in box. The box is 32 cm long, 23 cm wide, and 12.5 cm tall.
Assume the volume of the box and the volume of Pebbles are the same.

Assume the volume of a cell is 203um?®.
lum = 10"%cm.

Estimate the number of cells in Pebbles.

Nigox = (32 cmn)(23 o) 025 om) = 9,200 o
Nocwvlts * 0\,2.000m3

Neew = 20° pam?®

\ 4,200
b’ g gs0em® o (A - 2= AP el
207 Am? 1w em’
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